(» ESERCI ZI O 4. 4. 11 «)

fl[Xx_]:=x"3+1,;

f2[x_]1:=1.001+0.03% (x-0.1) +0.3% (x-0.1)"2+2% (x-0.1)"3;
f3[x_1:=1.009+0.15%(x-0.2) +0.9% (x-0.2)"2+2% (x-0.2)"3;

fIx_1:=1f[x=<0.1, f1[x], If[x=<0.2, f2[x], f3[x]1]

Plot [f"'""'[x], {x, 0, 0.3}]
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Cl ear [a, b, X];

a=0.0; b=0.3; n=4

h=(b-a)/n;

x[0] =a; x[n] =b;

Do[x[i]=x[i =1]+h, {i, 1, n-1}]1;
sum= 0. 0;

Do[sum+=f [x[i1], {i, 1, n-1}];
trap=0.5xh« (f [a] +2. 0xsum+f [b])

0. 302607



2 Esercitazione5.nb

il=Integrate[fl[x], {x, 0, 0.1}]
i2=Integrate[f2[x], {x, 0.1, 0.2}]
i3=Integrate[f3[x], {x, 0.2, 0.3}]
true=il+i2+i3
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0. 302425

err = Abs[trap -true]

0.000182422

w[0] =1.; w[n] =1.;

Do[w[i]l=4., {i, 1, n-1, 2}]
Do[w[i]=2., {i, 2, n=-2, 2}]
sum= 0. 0;

Do[sum+=W[i ] *f [X[i 1], {i, O, n}]
simps = hxsum/ 3.

err = Abs[sinps -true]
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